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Name: Date:

1. What is the value of the expression?
246 + 10

A. 346

B. 347

C. 256

D. 146

2022-2023-T-Math-Gr02-T9
Test ID: 2672759

2. What is the value of the expression?
578 + 100

A. 468

B. 478

C. 568

D. 678

3. What is the value of the expression?
10 + 483
A. 493
B. 473
C. 573

D. 593
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4. What is the value of the expression?
100 + 187

A. 197

B. 287

C. 387

D. 397

5. What is the value of the expression?
830 + 100

A. 730

B. 840

C. 930

D. 940

6. What is the value of the expression?

327 + 10

317

. 337

417

. 427



7. Add.
673 + 149

A. 912

B. 822

C.716

D. 536
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8. Use any strategy to find the sum.
278 + 712
A. 566
B. 880
C. 980

D. 990

9. Use any strategy to find the sum.
425 + 156
A. 331
B. 571
C. 581

D. 671



10. Use any strategy to find the sum.
692 + 208
A. 996
B. 900
C. 896

D. 790

2022-2023-T-Math-Gr02-T9
Test ID: 2672759

11. Use any strategy to find the sum.
143 + 798
A. 655
B. 742
C. 831

D. 941

12. Use any strategy to find the sum.
374 + 256
A. 122
B. 520
C. 621

D. 630
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13. A grocery store sells 382 oranges and 219 apples in one week. How
many fruits does the grocery store sell in all?

A. 601
B. 591
C. 497

D. 177

14. A toy store has 112 red scooters and some blue scooters. There are 347
scooters in all. How many blue scooters are there?

A. 157
B. 235
C. 457

D. 535

15. A bakery has 285 vanilla cupcakes and 47 more chocolate cupcakes
than vanilla cupcakes. How many cupcakes are there in all?

A. 617
B. 523
C. 507

D. 332
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16. A vegetable garden has 438 tomatoes and 375 cucumbers. How many
tomatoes and cucumbers are there in all?

A. 143
B. 602
C. 743

D. 813

17. A baker uses 140 eggs to make one batch of waffles. How many eggs
does the baker use to make 2 batches of waffles?

A. 120
B. 260
C. 280

D. 340

You have reached the end of this section.



